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Entries 1230
Mean 1.238
Std Dev 0.8028

\'Il“ll
il

Ratio

0NG4T 8 10 12 14 16 18 20
2

i
|

uﬂ: |

mmmem DQM_original_step2_tthar-phasel-newgeom
w——— DQM_mkFit_step2_ttbar-phasel-newgeom
wmmm= DQM_angle_step2_ttbar-phasel-newgeom
weses DQM_fast_step2_ttbar-phasel-newgeom

1

(%]

< X2/ ndf >

O B I

<op./p. > )

o LN w A

I
=

B
ST
5

Ratio

0

BT

2 3

TP n (PCA to beamline)

< X2/ ndf >
< X2/ ndf >
o o PR e e
o 0 s N D o
R R L LRI L) LA LA Lot LA

0.4

Ratio

<o pTIpT > (Yo)

Ratio

1072

1 -1
AR(track, jet?



	Contents
	Page 1


